Utilizing the Explicit Formula
Unit 6: Representations of Linear Relations

For each of the following find the explicit formula and...

A. Identify the next three terms
B. Find the term named in the problem
C. Find the 52" term.

2.38,31,24,17, ...

1.1,-9,-19,-29, ...
Flnd a39 Flnd a24
ld = —mk A —_ ‘\
G =-a1-10 =|-39 | 2 dg=17-7 = Gay ’-?3“
G(a :"—3(7“/0 :“-{/(] q :_ch G@‘ [0'—7: —
G, = ~33~fo 3-89 [—: g, = 3-72 Qg, = 31

3.—22,—24,-26,-28, ...

4.3,—6,—15,—24, ...

Find az; — Find azg m
4, = =30-2°= i, # =36 ~7 "
= -32-2° G50 = = 12Y =-y2-9 = m
g, =732-4 4, =42
5.33,37,41,45, .. 6.34,26,18,10, ..
Find azo @ Find a2 dag = 142
Gg=Ys+q=\99| s = lo-8 =
= Y9+Y=2|53 ' 9o -
o s3ey s SORRe AN S IT
q_l = 3"' - 47 = ‘(0’3 -
7, -7, =1, 5,11, o 8.39,—61,—161,—261, ...
Find a,q r—'—“ _Find as
- . q = ("X s e e = - J
A = || +6 = M | Qs™= =26 ~lov 4, 35¢|
+ It G, = ~3¢1-160=
q(r 17+6 asz = 299 b X i ==5
a7 1‘23 f(,) a7 2 _"/6«""60:'- SA = 06’

9.-16,—116,—216,—316, ...

Find a4 ; o
A= ~316-100 = Oyo = 3‘“6\
'4” 2 —sueg

QL = ~/¢ “/90:
G4 ==516 ~og' =

10. —-18,-8,2,12, ...

[ Find as4 VR q3v'~l = 31A
qs'; 'X + 0= 2‘2 \
8, =ta2tlo = |32
' A, = Y92
4, = 32+10 Y2 \




11. 29,35,41,47, ...
Find a,¢

a‘S:(I}7'f‘é’ 53
aé=53'f'6; = SCi
G, =59+C 3/ 65

12.2,-3,-8,—13, ...

Find a4q
= Qy, = -193
06 = -/? “j = ‘23

Q,=-33-5 7748

13.-1,-11,-21,-31, ...
Find a,,

14, -19,-219,—419,-6109, ...
Find a,,

Gg= ~3l~lo= Gy = ~A3) Ay = ~l9 ~A6o= m
G, = ~I-lo= 0, = ~319-200 > [lo]
G, =~5-16= Gga= ~ 51 0= ~10i4-200=
15. 40,46,52,58, .. 16. 6, 16,26, 36, ...

Find ayg Find ass
Qs =5%+¢ = Qyq = A08 Qs = 36+1o= Ays = 396 \
G, = C4tC =| 4 =Hetlo = .
@, = 7046 = dsy = 346 a, = 56 +o = U52= 516
17.31,231,431,631, ... 18.—21,-11,-1,9, ..

Find asq Find a4
Qs = 63[ F 200 = ‘ Gh:‘?GB!S 5:(-)}[() = Qyp = 369
Zf@=5‘3'l + vy = | & =11+10 =
85= 1031 +20p = 4 = A1Ho = b, = 1
19.-2,-9,-16,-23, ... 20. 40, 30,20, 10, ...

Find az; Find ass
A5 =-23~7 Gs 216-10 = m
B =~30-7 4, = 0-l6 =
4, =-31~7 =|~%4 @y =~lo~j6 =




(D Common o':‘/‘ﬁefgnce_:»-~

"? ~ (l) = ~lo
-n - -9) = -1o
“29 -(-1) = o

- f;cp/icf/ ﬁrmwla\_: -

G, =dn )

| = -lo(ry+h
[ = ~lo+}
tlo 1o

ey

[;,\ ==/0n +”‘\

‘S/)ec;,é"c TQI‘MS :‘

Q39 = =10(39) + (|
gy =-390 # ]
s, = ~10(52) 4|

Qg, = “5A0411

@  Commm 0|'chr6ncc:

31-(38) = =7
-GN -7

17 - (a4)= ~3

Z)(fllchl éﬂ““[A .
Gn=dn +)
38 = ~7(1) +}

38 = ~7+b
+7  +7

1/5 :A

Spec,,'pc Tcrm.f g

a;w = "7[-2 1'/) +4s
O34 = -105 +4S

‘ Q39 = ~[23 S

q” =S 7(5¢’() +Ys

Qgp = -364 +Y5

g, e

@ Common Difference

F_fxp)ici/‘ QML& ‘

“AY ~(-a2) = =4
-2 "("2'4) = =2
A% =(-24) = -2

@y=dn +b
-2 =-3(1) +b
~22 =2 th

2 S |

-26 = b

SPZOHG‘( Tef‘mj '

@y = =2(27)- L0
04, =5 ~40

= '1[5'-7\) -6

= ~joY -~ 46
S2 ICY-I

a



Common DifFerence’ prla'cif l(;rmm'j"_

S'Be cifoe Terms:

’.4_ (33 i :ﬁ 1n =d-n +) Q;,=*9(3°;)+(.?
=15 - (-6) o 3 ==90)+b A3q =~351412
24 - (-15) 3= -~94h _
:dz—qi ij’_’j_q__ﬁ a;9= ‘359
i2=b _ A, =-9(52) +13
n =~ +12 A, =-I65+1
@ Co'“mak Dl‘([‘,[(’,/‘encc: ,prlici)[ Famu[q.' _Sﬂec"[fc ITCfMJf
37—(33))-= 4 G=donth Gyo = 4(20) +29
i ={3%)= q . A = %
s - (41) = 33=4(1)rh e ~ 24021

@ | 33 =_L{’,+b
| | t(x " A, = Y (52) +29

['_b
Q.. =208 +29
E"(n-ﬁ-o?ﬂ = ——

e

@ Commm\ d)-‘p.[erence-'

fxp’}C,‘¥ F;rm“‘a\: Shfveoipz‘c Ter‘rk;f
2 - (34)= -8 a, =d-n + b Byy = "8(23) +42
18- (2¢)= "¢ 30 =-§(1)+ b Q5 = -84 +Y23
@ L, G, = ~8(s2) +42
42 =

‘::] ., =~Yp+ Y
an""'?n?“/?



@ COMMar\A b;[’perEn CC": o _5X€’[(;(‘21 ,f;,m,,,,lai . .Spe,a'pfc TC/MS:

e Gp=da +b Gpq = 6(2) -13
LA AL A7) L A ~-7=60) +)) e = 174 13
M= (s) =¢ ~7=6tb "

A
“13=b Ag,= 6 (s2) ~13

dg, = 312 -I3

@ C'mf"m(m 0iFFerence: Cplidit Formula® __fl)ec,;,[’,-c Terms :
6= (39) = ~loo G,=da rb Gy, = ~loo(37) +(31
=16l - (~61) = -loo I , . :
9 = ~leoli) +h =-3750 4+ 139
-201 - (-161) = hi

~100 39 = “ldo+};
‘ 0(: _,00’ +Iﬂa 7"/00 )
139 =) Gg, = ~loo(s2) +13%

iah =~[00p +I3‘7S 452 = ~5A00 +/34

I
@ Comman DiFFerence ~'£>‘ﬂ)fc:'/ ‘f‘o’fmw’qf - Spec Fre Terms'
| ~l16 = (~16) = ~loo G=dn +h @,y = ~laoye) + 4
=26 = (-1le) = ~100 -1, = ~loa (1Y +], Ay, =100+ 84

=316 = (-216) = -loo e = ~lop +b
AL
8/ =b U, = ~100 (52) +84
i o b, = -5200+ 84



@_ Corwm\m\ b#XCrcn CC_"

=3~ (-19)= lo
=[-8 =  |6

12 - (2) = lo

Zdzld!,

fxf,l:c;l' f{éanq't Spec.'/}c 7"tm;:

Gy =dn +b Ggy = 16 (34)- 28
15 = lo(1y +) 43,1 = 39 -8
8= o pp

~AF 2 b

- ~28
m U5, = lo(52) ~Z

) as; = 590 ~¢?8

@ Comman i Flerence”
SN T, S EORAGE Y

35-(29) = ¢
q1-(38)= ¢ °
47~ Tut) =

[d=c\

EXpl.ic:'.l vﬁ;rmuqu : _Speci[rc T(Arm,r.'

By =don + b Gy = 6(20) +23
52“ (Z(’)gb Oz, = 156 +23
19 = ¢ + =
23= b
, & =¢/.
La.‘ = Gn +23\ =6 (s0) 423

G, =312 423

@, C\Orwm,m B“C[?-fence_ 4

-3 -(,z\: -5

8- (-3)= -5

“3-(-8)= -5
& =%

beplicit Formuls

s fpeclﬁc Termg:
SR Y= Sl + 7
2=-54+) Ay = “A00 + 7
'+S -+S

7=

(G = ~5n +7| G, =-S(s2) +7

| 4, =~A60 +7

i

A5, = - 253




@ C”"\mm bir/\/\erCncc i lé(‘ojicn( "F{-.rmu,q: Sﬂed/éc TCFMS:

-l = (1) = ~la ay=d-n + b ,Q&‘Iz""lo(x‘f)’(o’
2= (-11) F =10 =1 ==loll) + ) Qpy =-2%6 49
_Sl—/-;u): =16 -1 = =~Jo + b

+10 *Ho - [:quf‘}?j’
| @ 1=b Qs, = 16(52)49

(4, Ton 11] 0y =50 +9

by, = ~511i

—

@ - Camrmm' [))F,[erence £ é(p"ci)l gf»\m{ﬁ" /Sﬂ-ec:‘,ﬁr‘c rcfm! 4

=219 ~ (1%} "=:~A0s C Gnzdion Oy = -200(21) +18]
419 - (-29) = ~200 =19 =-200(1)+ Q. =-sjos +1§1
-619- (-419) = -2a0 1= 2004 )

+66 4200 Gz7 = -5219)
| @ 1§81 =b %, = -200(52) #15)
m Gg, = =~ 16Yc6+ (3]

@ (OM”WP\ 61' fferenccf f)(ﬂl,'u’?" érmm(q'.

5;aeuﬁc Terms *

e~ (de) = 6 Gy=d-n +b 39 = 4(@ ekl
- (Ue) = ¢ Yo = ¢ (1) + b G = 171 434
ST=(sa)= G L/O’éﬂL!'J M

| 6 LV & ,
@ | “3v-b 05,2 ¢ (52) 434

Go=Gn +34) “i“m:m £y



@ C’M"\ b“pf‘[t’fence‘;’t éﬂ Iic/'{ :(af‘mu(qf'

Speciloc Tecms:

-G = o Gy =d-n +b Gss =)0 (35) - Y
i 0w
G=lo+b Q,c = 344
o =10 P - R [D
~—L/2b GL‘:lo (5%) -‘7’
a,,='0n =il 457_:59\0 -4

@ §0mmm O:flert nce! fx,ol('ci} émw,fo.’-

S 231- ()= Ao &osdn e b 2. = 2l o 8
Y31~ (231)= 200 517 Tooh 4 fA3q:= AK
¢31- (y30)= 260 3= A ¥ l3q = 7860 =169

51 = 200 +) e
ld:’wd%' “A0o -'200. ’
=169 = b

s, = 260 (52) ~169
|Gy = 2004 —169)

O, = lo4o0 ~/69

iﬁciﬁ‘(, Terms't

\@mmw\ bc‘pfe_rcnccf ZX//_I(_.”L l[c;rmu{a: Seeci[;‘c Terms:
- (-21)= o n=d-n + b o = 10 (10) =31
~1= (-1} > Jo ~2 =100 #b Ry = Yoo -3]
T-(C-N= 1 =2l =0 £ b |

0,{:!0 _-/0 “lo : @S
=39 = i A, = lo(s2) -3



@ Cammm Diflerence: C(X,o/ich( érmw’af SAeu'[fc Termyf

—q._(—-,‘z):".z 61‘,,=0"n "'b QJ7=~7(/21)+5
~fg= 1Y = =7 -2 ==70) + b Oaa = -189 #5
-23- (-16) = -1

~2 = =7 #b
7 +7

5=b a5, = ~7(52) 45
Gp="Tn+5 O, =-36Y +5
As, =359

COMM';\ Bl.l[\[\efer\cc" E)(p,)c[* ﬁ’fﬂ'ﬂd/ﬁ . SPCC"I[:'C 'fer‘ms :
30~ (4d)= -lo Gp=d'n + b Q5= ~10(25) +50
2= (80) = I Yo = =16()) + Uzs = -}s0 + 50
lo ~ (20) = ~lo

o v
SC):b

Bsy = 10 (52) +50
4, = ~lon +50 |

Q.SA = "“{70






